
@= k'hLut tkm{sf] vr{ ljj/0f -cfof]hgf  tyf sfo{qmd_ आ.व.२०७5/७6 Joo cg'dfg  
संकेत न.ं/िवषयगत िशषᭅकः  
k'lhut tkm{ ? (&)&)        cf=j @)&%÷)&^ sf] k'hLut tkm{sf] sfo{qmdut Joo cg'dfg    

ᱧ. हजारमा 

lzif{s  k'hLut vr{  

कायाᭅ᭠वयन ᱟने ᭭थान 

    
cfGtl/s 

>f]t  

अ᭠तर सरकारी िवᱫीय ह᭭ता᭠तरण       
    नेपाल सरकार k|b]z ;/sf/    

ऋण जनसहभािगता cf=j= 
@)&#÷&
$ sf] 
oyf{y  

cf=j= 
@)&$÷

&% 

ljlto 
;dflgs/0f  

/fhZj 
af8kmf

8 
;zt{ 

ljlto 
;dflgs/0f  

/fhZj 
af8kmf8 

;zt{ 
᭭थानीय तह 

  ufpFkflnsf :tl/o 
of]hgfx?  

                          
1 ;jf/L ;fwg v/Lb                     15,000                   -            

  cfly{s ljsf;                             -            

2 Joj;foLs s[ifs 
pBdLx?sf] nflu cg'bfg                       1,200                   -            

3 Joj;foL pBdLx?sf 
nflu cg'bfg           845                 955                   -            

4 y'Dsf l;4 wfd ljsf; 
sfo{qmd l;l8 dd{;+Def/                         500                   -            

5 cl8db{g zflns lgdf{0f                       500.0             -            

6 ;ft;Nn] ;lxb kfs{ 
u'?of]hgf        500                  -                    -            



7 zlxb :d[lt kfs{ s]t's]                         500                   -            

8 lzjdlGb/ lgdf{0f 
dfg]eGHofª                     300                  

  ;fdflhs ljsf;                             -            

8 ;'s'Djf;L Joj:yfkg                         700                   -            

9 bf];|f] ufpFkflnsf leqsf 
cGt/ j8f :t/Lo 
km'6jn k|ltof]lutf  

                       400                   -            

10 k|yd ufpFkflnsf :tl/o 
k'?if elnj k|ltof]lutf                          300                   -            

11 k|yd ufpFkflnsf :tl/o 
dlxnf elnj k|ltof]lutf                     150.00                   -            

12 k|yd ufpFkflnsf leqsf 
cGt/ j8f :t/Lo s/ft] 
k|ltof]lutf  

                   150.00                   -            

  :jf:Yo                             -            

13 d=:jf=:j]= k|f]T;xg 
q}dfl;s                   1,700.00                   -            

14 cf}ifwL vl/b q}dfl;s                    800.00                   -            

15 kf7\o3/sf] l:s[lgË 
SofDk ;a} ;+:yf                     100.00                   -            

16 Plss[t SofDk ;+rfng 
Ps 7fpF                                             



200.00  -    
17 aly{{ª ;]G6/ :yfkgf / 

pks/0f                     100.00                   -            

18 :jf:Yo ;++:yf ;+rfng                       50.00                   -            

19 x]Ny o'lg6 Joj:yfkg 
j8f g+= * 

                     200.0             -            

20 EofS;Lg / cf}ifwL 9'jfgL                     100.00                   -            

21 cTofjZoLs EofS;Lg 
vl/b                       50.00                   -            

22 olG;lg/]6/ lgdf0f{                     100.00                   -            

23 sfo{qmd cg'udg        
  100.00                     -            

  lzIff                            -            

24 
cfwf/e"t tx sIff * 
;~rfng ePsf 
ljBfnonfO{ sDKo'6/ 
vl/b cg'bfg 

        700                

25 
ljBfno dd{t, ;Def/ 
tyf afXo jftfj/0f - 
sIffsf]7f,  kmlg{r/ , 
3]/faf/f cflb_ cg'bfg 

        1300                

26 ljBfnox?df vfg]kfgL 
Joj:yfkg cg'bfg         250                



27 sIff !!, !@ ;~rfng 
cg'bfg         400                

28 kflnsleq sn]h 
;~rfngsf] nflu 
k|f/lDes tof/L 

        30                
29 kflnsleq k|fljlws 

lzIff Joj:yfkg                1000          

30 
cfwf/e"t tx sIff % / 
* sf] clGtd k/LIff 
;~rfng, Joj:yfkg 
vr{ 

        120                

31 kflnsf:t/Lo z}lIfs 
k|ltof]lutf         100                

32 z}lIfs sfo{zfnf         50                
33 cleefjs lzIff         50                
34 z}lIfs Sofn]G8/ lgdf{0f         50                
35  lzIfs tflnd         100                
36 cg'udg tyf d"NofFsg       200                  

37 

P]g, lgod, lgb{]lzsf 
tyf sfo{ljlwdf lglb{i6 
ul/Psf [ljleGg 
;ldltx?sf] a}{7s tyf 
sfo{qmd sfo{Gjogsf 
nflu cfjZos Logistic Joj:yfkgsf 
nflu sfo{qmd 
Joj:yfkg vr{ 

        100                

38 uf=kf= lzIff zfvf 
sfo{{no ;~rfng vr{         50                

   dlxnf nIfLt sfo{qmd                             -            



39 
;a} j8fx?df ue{jlt 
dlxnfx?nfO{ c08f 
ljt/0f sfo{qmd #%) 
hgf ! b]vL ( j8fx?df  

                        150                   -            

40  @ lbg] ue{jlt hf]8L 
tflnd @$) hgfnfO{ ! 
b]vL ( j8fx?df 

                       289  
         11.00                 -            

41 ;'Ts]/L sf];]nL e]6 
sfo{qmd  !%) hgfnfO{ 
! b]vL ( j8fx?df 

                        150                   -            

42 
;a} a8f:t/x?df cfdf 
;d'x ;+~hfnsf] g]t[Tjdf 
dlxnf :jf:Yo 
cfktsflng sf]if 
:yfkgf  

                       900                   -            

43 lth] ljz]if sfo{qmd ! 
b]vL ( j8fx?df                          275                   -            

44 dlxnf lbj; sfo{qmd ! 
b]vL ( j8fx?df                          300                   -            

45 l;nfO{ s6fO{ tflnd @ 
:yfgdf                         600                   -            

46 vf8L a'gfO{ tflnd ! 
:yfgdf                          300                   -            

47 
k|hGg :jf:Yo clwsf/ / 
k7o3/ v:g] ;jfn 
;DalGw # lbg] 
cled'lvs/0f ! b]vL ( 
j8fx?df  

                     1,000                   -            

48 afnaflnsf sfo{qmd                         200                   -            



49 h]i7 gful/s / ckfË 
kl/ro kq ljt/0f                           300                   -            

50 dgf]ljdz sfo{qmd                          150                   -            

51 hgk|ltlglw dlxnfx?nfO{ 
g]t[Tj ljsf; tflnd                         200                   -            

53 
ufpFkflnsf :t/Lo cfdf 
;d'x ;+hfnsf] xflh/L 
hjfkm, aSt[Tjsnf / 
;f:s[lts sfo{qmd 
k|ltof]lutf  

                        300                   -            

54 :jod ;]ljsfx?sf] 
kflnsf :to/Lo 
cGts[of  

                        150                   -            

55 cfdf ;d'xx?sf] a}7s 
cg'dug              200                     -            

56 n}luË lx;f / afnljafx 
Go'lgs/0f                         200                   -            

57 sf];]nL 3/ lgdf0f{ 
kflnsf :tl/o                         425                   -            

58 hghftL sfo{qmd                         400               -            

59 blnt sfo{qmd                          300                   -            

60 s'jf vs{ vfg]kfgL                         500                   -            

61 df]nL vfg]kfgL                          100                   -            



62 pjF' vfg]kfgL                          100                   -            

63 k]s' vfg]kfgL                         200                   -            

64 yfSn] vfg]kfgL                          150                   -            

65 6f]S;]n vfg]kfgL                          100                   -            

66 * g+= vfg]kfgL                          150                   -            

67 dfwjk'/ vfg]kfgL                         200                   -            

  k'jf{wf/ ljsf;                              -            
68 zdfj];L u|fld0f ;8s                                

2,000                  
69 df]nL vf6f s]t's] ;8s                     1,000         
70 l/g'jfn vrfk' ;8s                       500          
71 k:z' kms'n ;8s                       500          
72 anaxfb'/ :d[tL ejg                         500                   -            

73 s]lGbo ljw't k|;f/0f 
nfO{g lj:tf/ sfo{qmd                        2,576           1,624.00             -            

74 lnAh' ;fd'bflos dlxnf 
ejg jfS;f                                                   



300  -    
74 d+Dn' WofKn' ;8s                         800                   -            

75 k+v' afn'jf vfgL ;8s                         200                   -            

76 ef]n]{kf]v/L  ;8s                 400                   -            

77 c8Ldb{g u|fdL0f ;8s                         800                   -            

78 lxn]kfgL e08f/] ;8s                         500                   -            

79 l;l4r/0f /fhdfu{ af6 
;fljs $ ho/fd ;8s                         500                   -            

80 * g+= j8f sfof{no 6«i6 
lgdf{0f                         500                   -            

81 Acf]s'nf  v]n :6]h 
lgdf{0f  pj'                         500                   -            

82 dfwjk'/ b'dlvd 
l;dkfgL ;8\s                     1,000.00  

        

83 l;dsfs' ;8s                          300                   -            

84  ljkb Joj:yfg                       1,500                   -            

85 kmlg{r/ Joj:yfkg 
ufpFklnsf              770                   -            



86 d]l;g/L cf}hf/ v/Lb 
ufpkflnsf                        500                   -            

87 GofoLs ;ldlt 
;lrjfnosf] 6«:6 lgdf{0f                          300                   -            

88 GofoLs ;ldltsf] 
kmlgr/ / sfo{no 
Joj:yfkg  

                       200                   -            

89 d]n ldnfk stf{x?sf] 
Ps xKt] tflnd                          300                   -            

90 d]n ldnfk s]Gb|sf] 
af]8{x? vl/b                           50                   -            

91 cGo ljljw sfo{qmd              150                    -            

  j8f :tl/o of]hgfx?                             -            

1 gful/s ;r]tgf s]Gb| 
Joj:yfkg 

dfg]e~HofË 
!                        50                   -            

2 uxt] /]Nk' ;8s 
:t/pGglt of]hgf 

dfg]e~HofË 
!                       675                   -            

3 gfb]nj]zL;Dd ;8s 
:t/pGgtL of]hgf 

dfg]e~HofË 
!                      600                   -            

4 dxfFsfn ;8s lgdf{0f 
of]hgf 

dfg]e~HofË 
!                       250                   -            

5 uxt] k'5f/ 6f]n ;8s 
lgdf{0f  

dfg]e~HofË 
!                      500                   -            

6 av|fwf/ vfg]kfgL 
6\ofª\sL lgdf{0f 

dfg]e~HofË 
!                       250                   -            



7 9'+u]wf/ vfg]kfgL 6\ofª\sL 
lgdf{0f 

dfg]e~HofË 
!                       250                   -            

8 s[lif ks]6 If]q 
dfg]e~HofË 

!                       250                   -            

9 kz' kfng ks]6 If]q 
dfg]e~HofË 

!               325                   -            

10 l;rfO{                          100                   -            

11 s]Gb|Lo ljB't nfOg 
lj:tf/ 

dfg]e~HofË 
!                       675                   -            

12 d+unf cfwf/e"t ljBfno 
v]n d}bfg lgdf{0f 

dfg]e~HofË 
!                       175                   -            

13 sflnsf df=lj= sDkfpG8 
lgdf{0f tyf 3]/faf/ 

dfg]e~HofË 
!                          100          

14 j8f :t/Lo v]ns'b 
dfg]e~HofË 

!                       300                   -            

15 kNnf]af/L 3f]/]6f]af6f] 
lgdf{0f tyf :t/pGgtL 

dfg]eGHofË 
@                      200                   -            

16 ;flas jfS;f @ 
df]6/af6f] :t/pGgtL 
tyf lgdf{0f 

dfg]eGHofË 
@                        -             1,000.0  

        
17 bNsfs' wdf{zfnf lgdf{0f 

of]hgf 
dfg]eGHofË 

@                       150                   -            
18 lrlr+uf d}bfg 6f]n 

df]6/af6f] lgdf{0f 
dfg]eGHofË 

@                       300                   -            
19  g'gynf  df]6/af6f]  dfg]eGHofË                                   



lgdf{0f @ 150  -    
20  dxfb]a :yfg, yl/6f]n 

df lj= uf]/]6f] af6f] 
lgdf{0f tyf dd{t 

dfg]eGHofË 
@                      200                   -            

21 ;flas jfS;f & l;rfO{ 
kf]v/L lgdf0f{ 

dfg]eGHofË 
@                      250                   -            

22 >L dfxf+sfnL :j:Yo 
cfdf ;d'x ejg lgdf0f{ 

dfg]eGHofË 
@                       150                   -            

23 ;fn3f/L,ef]6]a];L vfkf 
Pad k]N6L;]6 dd{t 

dfg]eGHofË 
@                       150                   -            

24 dgsfdgf b]aL dlGb/ 
dd{t tyf df\6/af6f] 
gdf{0f 

dfg]eGHofË 
@                      500                   -            

25 j8f :tl/o v]ns'b jf 
d}bfg lgdf{0f 

dfg]eGHofË 
@                       300                   -            

26 

s[ifL sfo{s|d -df};dL 
a]df};dL t/sf/L tyf 
kmnkm'n vfBGgsf] 
pkfbsTj a[4L,ljp 
,g/;/L,;fdfu|L,tyf 
cu'jf s[ifs 
k|f]T;xfg,tflnd,s[lifdf 
cfw'lgs/0f k|ljlw 
ljsf; k|a4{g_  

dfg]eGHofË 
@                      400                   -            

27 

nIfLt tkm{  -
;Ddfg,k|f]T;fxfg,;+/If0f,l
jsf;,pTyfg,tflnd,cfo
cfh{g, tyf l;k ljsf; 
sfo{qmd k|a4{g blnt, 
hghftL 
ljkGg,h]i7,ckf+Ë,afnafl
nsf_ 

dfg]eGHofË 
@                      200                   -            



28 ebf}/] sfsL{a];L 3f]/]6f] 
af6f] lgdf{0f 

dfg]eGHofË 
@                       300                   -            

29 sfsL{ j];L wd{zfnf 
eag lgdf{0f 

dfg]eGHofË 
@                       150                   -            

30 :jf:Yo rf}sL 
Aofj:yfkg,k|f]T;fxfg,lz
aL/,:jf:Yo lzIff, 

dfg]eGHofË 
@                       100                   -            

31 blnt qmdfut ejg 
lgdf{0f of]hgf 

dfg]eGHofË 
#                      200                   -            

32 Jcf]s'nf v]ns'b d}bfg 
lgdf{0f 

dfg]eGHofË 
#                      500                   -            

33 qmdfut cfxfn] :6]h 
lgdf{0f 

dfg]eGHofË 
#                      500                   -            

34 k|ultzLn gf=;=s] ejg 
Joj:yfkg  

dfg]eGHofË 
#                       100                   -            

35  lnAh' gf=;=s]=ejg  
lgdf{0f  

dfg]eGHofË 
#                      500                   -            

36 aufn] ufFp, vqL ufFp, 
a}bf/ 6f]n,sfdL ufpF 
vf=kf=dd{t 

dfg]eGHofË 
#                      200                   -            

37 ;fgfh'/] wf/f u}/L vf=kf 
dd{t of]hgf  

dfg]eGHofË 
#                       100                   -            

38 8fF8f ufp+ vf=kf dd{t  
dfg]eGHofË 

#                       100                   -            
39 l;Dsfs' vf=kf= dd{t 

of]hgf 
dfg]eGHofË 

#                       100                   -            
40 hf]/ wf/f vf=kf=lgdf{0f 

of]hgf 
dfg]eGHofË 

#                                             



100  -    
41 bfj'{ vf=kf= dd{t of]hgf 

dfg]eGHofË 
#                      200                   -            

42 kmf]s'n vf=kf d'xfg 
;+/If0f of]hgf 

dfg]eGHofË 
#                       100                   -            

43 tf/sf]d ;fj{lhgs 
zf}rfno lgdf{0f of]hgf 

dfg]eGHofË 
#                       100                   -            

44 sf;f]lsd l;rfO kf]v/L 
lgdf{0f of]hgf 

dfg]eGHofË 
#                      200                   -            

45 klAns s'v\/f kfng 
;d'x Joj:yfkg of]hgf 

dfg]eGHofË 
#                      200                   -            

46 p+j' ;8s dd{t of]hgf 
dfg]eGHofË 

#                      500                   -            
47 ljB't s]Gb|Lo nfOg 

lj:tf/ of]hgf 
dfg]eGHofË 

#                      500                   -            
48 ljljw tyf e}k/L vr{ 

Joj:yfkg 
dfg]eGHofË 

#     
      300                    -            

49 :jf:Yo rf}sL ;Grfng 
tyf Joj:yfkg 

dfg]eGHofË 
$                       250                   -            

50 ufp+3/ lSnlgs ejg 
lgdf{0f k+v' 

dfg]eGHofË 
$                      200                   -            

51 w';LgL k|f=lj= cxfn] 
;8s lgdf{0f 

dfg]eGHofË 
$                      200                   -            

52 af}4 k/+uf; ;8s dd{t 
dfg]eGHofË 

$                      200                   -            
53 s]t's] ahf/ 9n tyf dfg]eGHofË                                               



;8s lgdf{0f $ 800  -    
54 ;'l:dtf ljlgtf 

;fd'bflos cWoog s]Gb| 
dfg]eGHofË 

$                       100                   -            
55 vfg] kfgL 6\of+sL dd{t 

k+v' 
dfg]eGHofË 

$                       100                   -            
56 k+v' lj=s 6f]n 9n 

lgdf{0f 
dfg]eGHofË 

$                      200                   -            
57 s]t's] k+v' v]n d}bfg 

lgdf{0f 
dfg]eGHofË 

$                      400                   -            
58 ;Gv' vf]nf ;8s lgdf{0f 

ofhgf  
dfg]eGHofË 

$                       150                   -            
59 sf]N6f/ 7"nf]h'/] ;8s 

lgdf{0f  
dfg]eGHofË 

$                       650                   -            
60 k]s' ;8s lgdf{0f 

dfg]eGHofË 
$                       150                   -            

61 s]Q's] #,$ 
vf=kf=vfg]kfgL dd{t 

dfg]eGHofË 
$                       250                   -            

62 g]jf/] 8fF8f uf]/]6f] af6f] 
df]Un'ª vf]nf 

dfg]eGHofË 
$                       100                   -            

63 u'?ª 8f8f g]jf/] 8f+8f 
;8\s lgdf{0f  

dfg]eGHofË 
$                      550                   -            

64 e}k/L vr{ tyf ljljw 
dfg]eGHofË 

$     
      200                    -            

65  l;dn8f+8f, h'/]vf]nf  
yfkf 6f]n ;8s  

dfg]eGHofË 
%                      500                   -            

66 pbok'/ lwldn] ;8s dfg]eGHofË                                                



lgdf{0f of]hgf % 300  -    
67 :s'n3/ /f]Db' vf]nf 

;8s  
dfg]eGHofË 

%                      400               -            
68 u}/LufpF Jcfvf{ ;8s 

dfg]eGHofË 
%                      500                   -            

69 k]N6«L;]6 3/ lgdf{0f 
dfg]eGHofË 

%                       160                   -            
70 lwldn] 5fufkfgL 

vfg]kfgL of]hgf 
Joj:yfkg of]hgf 

dfg]eGHofË 
%                        50                   -            

71 lbKnf] s'nf] l;+rfO{ 
Joj:yfkg of]hgf 

dfg]eGHofË 
%                       300                   -            

72 ef]n]{ vfg]kfgL lgdf{0f 
of]hgf 

dfg]eGHofË 
%                       150                   -            

73 dflyNnf] l/r'jf e'd]yfg 
vfg]kfgL d'xfg 
Joj:yfkg of]hgf 

dfg]eGHofË 
%                       100                   -            

74 vfg]kfgL lnˆ6LË 
afn]yfd 

dfg]eGHofË 
%                      400                   -            

75 cfwf/e"t Jo"6Ll;og / 
x]o/ sl6ª tflnd 

dfg]eGHofË 
%     

      100                    -            
76 ue{jtL hf]8L tflnd 

dfg]eGHofË 
%                       150                   -            

77 l;nfO{ s6fO{ n]en @ 
tflnd 

dfg]eGHofË 
%                    90                   -            

78 du/ efiff, wd{ / 
;+:s[lt ;+/If0f sfo{qmd 

dfg]eGHofË 
%                       100                   -            



79 eflifs tyf ;fF:s[lts 
sfo{qmd 

dfg]eGHofË 
%                       100                   -            

80 >L lwldn] cfwf/e"t 
ljBfno–d]l;g/L ;fwg 
vl/b 

dfg]eGHofË 
%                       100                   -            

81 >L b]lj:yfg cfwf/e"t 
pbok'/–v]n d}bfg dd{t 

dfg]eGHofË 
%                      200                   -            

82 j8f :t/Lo lzIff 
cGt/lqmo sfo{qmd                         100                   -            

83 s[lif pBd sfo{qmd–
Jofj;flos cslj/] 
v';f{gL v]tL 

                        100                   -            
84 ;'wfl/Psf] r'nf} ljj/0f 

sfo{{qmd 
dfg]eGHofË 

%                      200                   -            
85 h]]i7 gful/s ;Ddfg 

sfo{qmd 
dfg]eGHofË 

%     
      100                    -            

86 k|of; g]kfn ;fe]mbf/L 
sfo{qmd 

dfg]eGHofË 
%                        50                   -            

87 
afnaflnsf nlIft 
sfo{qmd–afnaflnsfsf] 
xs lxt clwsf/ 
;+DaGwL cled'vLs/0f  

dfg]eGHofË 
%                       100                   -            

88 k|x/L rf}sL dfg]e~HofË 
xfjfdn lgdf{0f 

dfg]eGHofË 
%                       150                   -            

89 ckfË tyf ljkGg 
;xof]u sfo{qmd 

dfg]e~HofË 
uf=kf=^                       150                   -            

90 blnt vf=kf= 6\+ofsL tyf 
kfO{k vl/b of]hgf 

dfg]e~HofË 
uf=kf=^                        90                   -            



91 du/ efiff ;+/If0f 
sfo{qmd -hghflt 
nIfLt_  

dfg]e~HofË 
uf=kf=^                        90                   -            

92 /fwfs[i0f dlGb/ lgdf{0f 
dfg]e~HofË 

uf=kf=^                       300                   -            
93 j/8fF8f rf}tf/L lgdf{0f 

dfg]e~HofË 
uf=kf=^                       100                   -            

94 led;]g:yfg ;+/If0f tyf 
rf}tf/L lgdf{0f 

dfg]e~HofË 
uf=kf=^                       160                   -            

95 hfSdf vfg]kfgL 6+\ofsL 
lgdf{0f 

dfg]e~HofË 
uf=kf=^                      200                   -            

96 n]s6f/ kf]v/L lgdf{0f 
dfg]e~HofË 

uf=kf=^                       100                   -            
97 wf]b|] ;8s lgdf{0f 

dfg]e~HofË 
uf=kf=^                      200                   -            

98 :jf:Yo rf}sL ejg dd{t 
tyf ;+Def/ 

dfg]e~HofË 
uf=kf=^     

      150                    -            
99 

l;l4r/0f /fhdf{u b]lv 
:jf:Yo rf}sL x'Fb} ldt]/L 
e~HofË hf]8g] df]6/ 
af6f] dd{t 

dfg]e~HofË 
uf=kf=^                       250                   -            

100 ho/fd af6 tNnf] /Lr'jf 
ls/ft]Zj/ dxfb]j dlGb/ 
;8s lgdf{0f 

dfg]e~HofË 
uf=kf=^                       300                   -            

101 aufn] 6f]n 3f]/]6f] af6f] 
lgdf{0f 

dfg]e~HofË 
uf=kf=^                       350                   -            

102 h}l;8fF8f x'Fb} sd]/] 8fF8f 
hf]8g] ;8s lgdf{0f 

dfg]e~HofË 
uf=kf=^                       300                   -            



103 h'g]nL :jf:Yo cfdf 
;d'x ejg lgdf{0f 

dfg]e~HofË 
uf=kf=^                       300                   -            

104 lkkn] /ftdf6] x'bF} 
l;l4r/0f /fhdf{u s[lif 
;8s lgdf{0f 

dfg]e~HofË 
uf=kf=^                      400                   -            

105 ;fls{ ufFp hf]8g] df]6/ 
af6f] lgdf{0f 

dfg]e~HofË 
uf=kf=^                      400                   -            

106 @ g+= sf] ;fd'bfoLs 
ejg Knf:6/ 

dfg]e~HofË 
uf=kf=^               100                   -            

107 lj;f}gf cfdf ;d'x 
u|fpG8 lgdf{0f 

dfg]e~HofË 
uf=kf=^                       150                   -            

108 ljkt Joj:yfkg :fDaGwL 
sfo{qmd 

dfg]e~HofË 
uf=kf=^                          35          

109 cg'udg vr{ -sG6]h]G;L_ 
dfg]e~HofË 

uf=kf=^     
       225                    -            

110 ;fj{hlgs ;'g'jfO{ 
dfg]e~HofË 

uf=kf=^                        50                   -            
111 cfly{s ;xfotf tyf 

e}kl/ vr{ 
dfg]e~HofË 

uf=kf=^     
      100                    -            

112 ckfË tyf ljkGg 
cfo{cfhg sfo{qmd 

dfg]e~HofË 
uf=kf=&                        40                   -            

113 led;]g :yfg dGbL/ 
lgdf{0f -hghflt nlIft_ 

dfg]e~HofË 
uf=kf=&                        95                   -            

114 blnt nlIft cfo{cfhg 
sfo{qmd 

dfg]e~HofË 
uf=kf=&                        40                   -            

115 afnjflnsf nlIft 
cGt{/s[of sfo{qmd 

dfg]e~HofË 
uf=kf=&                        40                   -            



116 ebf}/] cfxfn dd{t 
dfg]e~HofË 
uf=kf=&                        50                   -            

117 gs{6] vf]nf l;rfO{ s'nf] 
lgdf{0f of]hgf 

dfg]e~HofË 
uf=kf=&                       250                   -            

118 7'nf]vf]nf dflem6f/ 
l;rfO{ of]hgf 

dfg]e~HofË 
uf=kf=&                        50                   -            

119 bf]efg vf=kf= lgdf{0f 
of]hgf 

dfg]e~HofË 
uf=kf=&                       100                   -            

120 a}sNkLs phf{ ;a]{ 
vf=kf= of]hgf 6f]S;]n 

dfg]e~HofË 
uf=kf=&                       100                   -            

121 le/kfgL 6f]S;]n ;f]nf/ 
vf=kf= of]hgf 

dfg]e~HofË 
uf=kf=&                      640                   -            

122 ;ft;Nn] vf=kf= 6ofsL 
lgdf{0f 

dfg]e~HofË 
uf=kf=&                       100                   -            

123 xs{k'/ ;ft;Nn] 
df]6/jf6f] lgdf{0f 

dfg]e~HofË 
uf=kf=&                  1,200.00  

        

124 ;ft;Nn], ebf}/], 
dflemufFp df]6/af6f] 
:t/pGgtL 

dfg]e~HofË 
uf=kf=&                      550                   -            

125 e'tkflg 6f]S;]n 
df]6/af6f] :t/pGgtL 

dfg]e~HofË 
uf=kf=&                       150                   -            

126 cf?af]6 uf]ugkflg ;8s 
:t/pGgtL 

dfg]e~HofË 
uf=kf=&                       250                   -            

127 ;f]/fgL df]6/af6f] 
:t/pGgtL 

dfg]e~HofË 
uf=kf=&             100                   -            

128 xs{k'/ b]lv nfD;f x'Fb} dfg]e~HofË                                                 



ltnvf]/Lof ;Dd 
j[Iff/f]k0f sfo{qmd 

uf=kf=& 75  -    
129 cfly{s ;xfotf tyf 

e}k/L vr{ 
dfg]e~HofË 
uf=kf=&                    100                   -            

130 cg'udg tyf Joj:yfkg 
vr{ -sG6]h]G;L_ 

dfg]e~HofË 
uf=kf=&     

      180                    -            
131 d]l;g/L cf}hf/ -Nofk6k 

vl/b_ 
dfg]e~HofË 
uf=kf=&                        90                   -            

132 v]n d}bfg lgdf{0f  
dfg]e~HofË 
uf=kf=&                       250                   -            

133 ljtf{6f]n :t/ pGgtL  
dfg]e~HofË 
uf=kf=&                        50                  

134 /f3jk'/ s'lDnª vx/] 
vf]nf  df]6/ jf6f]  

dfg]eGHofª 
*             850                   -            

135 dfg]eGHofª lx6L 
/f3jk'/ df]6/ jf6f]  

dfg]eGHofª 
*                       300                   -            

136 /f3jk'/ xs{bLk 
efn'vf]nf df]6/ jf6f]  

dfg]eGHofª 
*                       250                   -            

137 /f3jk'/ wf/fkfgL 
efn'vf]nf df]6/ jf6f] 

dfg]eGHofª 
*                       300                   -            

138 ;fljs j8f g+= ( 
vfg]kfgL lgdf{0f tyf 
dd{t  

dfg]eGHofª 
*                       300                   -            

139 led/fh yfgL dlGb/  
dfg]eGHofª 

*                       250                   -            
140 efn' vf]nf ljBfno x'+b} 

dfwjk'/ hf]8\g] 
df]6/jf6f]  

dfg]eGHofª 
*                      200                   -            



141 ;fljs j8f g+= * 
vf=kf=6\ofÍL dd{t  

dfg]eGHofª 
*                      200                   -            

142 o'jf Snj tf/hftnL  
dfg]eGHofª 

*     
      100                    -            

143 wf/fkfgL cfn] 6f]n 
df]6/jf6f]  

dfg]eGHofª 
*                       100                   -            

144 rgf}6] :jfF/f df]6/ jf6f] 
dfg]eGHofª 

*                       100                   -            
145 ;/;kmfO{ :jf:Yo cfdf 

;d"x ejg dd{t ;Def/  
dfg]eGHofª 

*                       100                   -            
146 ;/:jtL cfwf/e"t 

ljBfno dd{t ;Def/  
dfg]eGHofª 

*                       100                   -            
147 efn'vf]nf bf]efg 

cfo{3f6 ejg 
dfg]eGHofª 

*                       100                   -            
148 5fkufpF b]p/fnL 

df]6/jf6f] 
dfg]eGHofª 

*                       130               -            
149 lzjb'lt cfwf/e"t 

ljBfno 3]/fjf/  
dfg]eGHofª 

*                       100                   -            
150 j8f sfof{nosf] hUuf 

;Dofpg] / 3]\/fjf/  
dfg]eGHofª 

*                       350                   -            
151 dlxnf nlIft lzjdlGb/ 

lgdf{0f  
dfg]eGHofª 

*                      200                   -            
152 hghflt ejg  

dfg]eGHofª 
*                       100                   -            

153 blnt-pGgt hftsf] 
jf]sf vl/b_ 

dfg]eGHofª 
*                        70                   -            



154 ckfª — s'v'/f kfng  
dfg]eGHofª 

*                        50                   -            
155 h]i7 gful/s ;Ddfg 

sfo{qmd 
dfg]eGHofª 

*                        50                   -            
156 ljljw-s_ vfg]kfgL kfO{k 

vl/b 
dfg]eGHofª 

*                        50                   -            
157 k|of; g]kfn ;fem]bf/L 

sfo{qmd 
dfg]eGHofª 

*                        50                   -            
158 d]l;g/L cf}hf/ -Nofk6k 

vl/b_ 
dfg]eGHofª 

*                       100                   -            
159 cfn]6f/ l;Dn] dG6«L 

df]6/af6f] lgdf0f{ 
dfg]e~HofË 
uf=kf=(                       100                   -            

160 cfn]6f/ k3/f,l;sfk' 
df]6/ af6f] :t/pGglt 
tyf lgdf{0f 

dfg]e~HofË 
uf=kf=(                      800               -            

161 ;'jf/f 3n]ufpF df]6/af6f] 
lgdf0f{ 

dfg]e~HofË 
uf=kf=(                      200                   -            

162 
;fljs dfwjk'/ ( b]lv 
ynx/L x'Fb} b'lDvd 
l;DkfgL df]6/af6f] 
:t/pGgtL lgdf{0f  

dfg]e~HofË 
uf=kf=(                      400                   -            

163 cUb'vf]nf tNnf] gofF 
vf=kf=6\ofÍL dd{t  

dfg]e~HofË 
uf=kf=(                        50                   -            

164 3n]ufpF :jf/f vf=kf= 
lgdf{0f  

dfg]e~HofË 
uf=kf=(                        50                   -            

165 7'NnLj];L vf=kf= lgdf{0f 
dfg]e~HofË 
uf=kf=(                       150                   -            

166 cf]v/jf]6 vf=kf=d'xfg dfg]e~HofË                                                



dd{t ;fljs %,^ uf=kf=( 100  -    
167 

cf]v/uf}/f l;/fg6f]n 
vf=kf=l/he{ 6\ofÍL 
lgdf{0f k|of; g]kfn 
;fem]bf/Ldf 

dfg]e~HofË 
uf=kf=(                        50                   -            

167 s'jfkfgL vf=kf= of]hgf 
dd{t 

dfg]e~HofË 
uf=kf=(                        50                   -            

168 vfg]kfgL lnK6LË 
jfn]yfd 

dfg]e~HofË 
uf=kf=(                      380                   -            

169 lgs]tg df=lj= 
kmlg{r/,z}lIfs 
;fdu|L,;f]n/ 

dfg]e~HofË 
uf=kf=(                       150                   -            

170 dgf]/rgf cfw/e't 
ljBfno kmlg{r/ 

dfg]e~HofË 
uf=kf=(                       150                   -            

171 ljBfsflnsf cfw/e't 
ljBfno z}lIfs ;fdu|L, 
uf/f]Knfi6/ 

dfg]e~HofË 
uf=kf=(                       150                   -            

172 b]lj k|f=lj= kmlg{r/ 
dfg]e~HofË 
uf=kf=(            20                   -            

173 :j:Yo rf}sL ejg dd{t 
tyf kmlg{r/ 

dfg]e~HofË 
uf=kf=(                      200                   -            

174 j/8fF8f ;fd'bflos ejg 
knfi6f/ 

dfg]e~HofË 
uf=kf=(                        50                  -            

175 dfg]e~HofË k|x/L rf}sL 
3]/fjf/ 

dfg]e~HofË 
uf=kf=(                        30                   -            

176 du/ :j:Yo cfdf ;d'x 
ejg dd{t 

dfg]e~HofË 
uf=kf=(                        50                   -            

177 rDkfb]lj dlxnf 
;fd'bflos ejg lgdf{0f 

dfg]e~HofË 
uf=kf=(                                                



100  -    
178 cUb'vf]nf d'xfg snf;] 

l;rfO{ kfO{k vl/b 
dfg]e~HofË 
uf=kf=(                       150                   -            

179 uf]n] s'nf] dd{t  
dfg]e~HofË 
uf=kf=(                        50                   -            

180 /fD;L b]lv b]p/fnL 
3f]/]6f] af6f] 

dfg]e~HofË 
uf=kf=(                        20                   -            

181 j]N6f/ ;fd'bflos ejg 
lgdf{0f 

dfg]e~HofË 
uf=kf=(                       100                   -            

182 gf/L lbj; 
dfg]e~HofË 
uf=kf=(                        50                   -            

183 dx]Zj/L dlxnf 
;fd'bflos ejg lgdf{0f 

dfg]e~HofË 
uf=kf=(                       100                   -            

184 jfnljjfx Go"lgs/0f ! 
lbg] tflnd 

dfg]e~HofË 
uf=kf=(                        50                   -            

185 jfnclwsf/ ;DalGw ! 
lbg] uf]i7L 

dfg]e~HofË 
uf=kf=(                        50                   -            

186 h]i7 gful/s ;Ddfg 
dfg]e~HofË 
uf=kf=(                       100                   -            

187 ckfËtf JoQmLx?nfO{ 
clwsf/ ;DjlGw 
cGt/qmLo sfo{qmd 

dfg]e~HofË 
uf=kf=(                        50                   -            

188 ljkb hf]lvd Go"lgs/0f 
;DalGw cGt{lqmof 
sfo{qmd 

dfg]e~HofË 
uf=kf=(                       150                   -            

189 j8f sfof{nodf kmlg{r/ 
tyf ;fdfg vl/b 

dfg]e~HofË 
uf=kf=(                      200                   -            



 

190 s'6gL lk;gL ldn 
;fljs, ^ 

dfg]e~HofË 
uf=kf=(                       150                   -            

191 ;fj{hlgs ;'g'jfO{ 
sfo{qmd 

dfg]e~HofË 
uf=kf=(     

        50                    -            
  k'hLut Joo tkm{      134771     3,500             84,900                11      -            3,324            5,335       -         


